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(1) [7.5 points] Match the direction field plot with the differential equation. Give some
reason for each answer,

Eae e e T T JoF Sy
AN P
FIESS LTSN SIS
S LA A "I e v
//////ﬁé///f////////
LIl TEAN TP A7 777
ARl el d v
AELIETI7 A SIS
IALPPP LIS
Dt T R B W )
MY il N—1

R R BN
N RO N RN
SOOI NN
AR R R R R AR
ARRAR AR A AR AL AR SRR RN
SOOORNRIR OGN
NSO NSNNRU N SNNN
AL o e e S S S

AL LT (C) 3 -

() §g=sm@9 {EU ‘zéflk ﬂV{"aAE-;/acoqé%u
(i1 g—z=sin(y) () ﬁ (5 ﬂ.%uﬁim /J Wd((__

(iif) E:% = sin{z) sin(y)
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(2) [2.5 points] Below is the direction field of the differential equation
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(a: +2y sc) + (2y2? - cos(y)) i = 0
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